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1.

Derive the Slutsky equation for a two-commodity case and give an economic

interpretation of it. 14
OR

Derive the necessary and sufficient conditions for constrained utility maximization, in

the context of two commodity case.

What is short run production function ? Explain law of variable proportion. 14
OR

State and prove the main properties of Cobb-Douglas production function. Why is it

considered to be a special case of C.E.S. production function ?

(a) Show that a monopolist would never produce at a level of output where the

elasticity for his product is less than unity. 7
(b) C=15Q - 6Q? + Q3 is a total cost function. What should be level of output to
minimize AC ? Calculate AC and MC at the level of output. 7
OR

(a) A monopolist firm’s demand function and cost functions are given below :
Q=100-P, C =100 + 80 Q, where, Q = quantity, C = cost, P = price. Find out
the profit maximizing price (P) and level of output. Also calculate maximum
profit.

(b) Compare the characteristics of perfect competitive market and monopoly.

(a) State and explain the IS-LM model. 7
(b) What problem will arise if the assumption of constant price level is relaxed ?
Explain. 7
OR
Discuss in detail Keyne’s macroeconomics income determination model. 14

Choose the best answer for each of the following questions and write only its number
(a, b, c, d) in your answer sheet : 14
(1)  Which of the following equation clarifies the concept of Price effect = Income
effect + Substitution effect ?
(a)  Slutsky equation (b) C+1+G equation
(c) IS-LM equation (d) None of the above
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Which term shows the rate of technical substitution in Q = AK%LB 2

(@ K (b) L

) A d Q

The slope of indifference curve from originis __

(a) Linear (b) Convex

(¢) Concave (d) None of the above
Which is the base for change in short run cost function ?

(a) Fixed cost (b) Variable cost

(¢) (a) & (b) both (d) None of the above

Which of the following shows the relationship between production and factors of
production ?

(a) Production function (b) Cost function

(c) Income function (d) None of the above

Duopoly means

(a) Two consumers (b) Two producers

(¢) Two markets (d)  One producer and one consumer

If in a perfect competitive market firm produces output at a point Marginal Cost =
Price, then the firm will

(a) Incur loses (b) Earn maximum profit

(c) Earn normal profit (d) None of the above

The formula of consumer’s surplus is

(a) Total utility — Expenditure of the commodity.

(b) Income — Total utility

(c) Income — Expenditure

(d) None of the above

(9) The change in the position of LM curve is caused due to

(a) Increase in money supply  (b) Increase in saving

(c) Change in income (d) None of the above
(10) The formula of profit is .

(a3 II=R-C (b) II=C-R

(¢ IMI=R+C (d II=R-C+G
(11) In the classical model C + I = C + S shows equilibrium of

(a) Money market (b) Goods market

(¢) (a) & (b) both (d) None of the above
(12) InS =-40+ 0.2 Y, marginal propensity to save is .

(a) 0.2 (b) 0.8

(c) —-40 (d) None of the above
(13) In IS-LM model Investment = Saving is shown by .

(a) IS curve (b) LM curve

(¢) (a) & (b) both (d) None of the above

(14) Rational behavior of the consumer means

(a) Minimum production cost (b) Maximum production

(¢) Maximum satisfaction (d) Maximum profit
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